Phase 7

Grammar Plus Unit 2 Answer Key

punit &
Let’s discover grammar
Step 2 any (lines 1,2 3, 4)

Step 3 7 (ines 1, 3); aren't (line 2); isn't (line 4)
Step 4 questions; negative statements

Try it yourself

A.  Countable {in any order): vegetables; corrots;
tomatoes; bananas; strowbernias, hamburgers
Uncountable (in any orderk: bread; fruit; chease;

oil, meat; beef
B. 1. There are 2. There are
3. There are 4. There is
2. Thera s 6. Thera is
C 1. some 2. alotof
3. there aren't any tomatoes
4, Yes, thare is some jam
2. Yes, there is a lot of bread.

Let’s practise grammar in context

0. 1 alotof 2
3. there are 4
3. any b,
7. There is &
Q. focd

any

. taxis

a kot of / some
restaurant
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Phase 8
Grammar Plus P. 30, 31 Answer Key
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